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Rea I Ch a m S_ Vandana Chhatri 15 hours ago
THANK YOU SIR FOR THE AMAZING SESSION
g ' P Reoly

abhay singh 15 hours ago
It was awesome session sir and your way of explaining things is just on another level sire = &
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Aalap 18 hours ago
Helpful session ~ Thank You sir

e 2 G Reply

harsh sharma 17 hours ago

All sessions are very helpful thank u so much sir amazing sessions
! CF  Reply

Riya Mandaokar 17 hours ago

Thank you sir for the jabardast session




Amanvi (Sadhvi) 16 hours ago

Thank you sir for this helpful session &
e ' P Reply

Arjoo Srivastava 16 hours ago

Mice session sir =
eGP Reply

Niharika Jha 17 hours ago
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Abhishek Singh 19 hours ago
Mice session siries &
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Surbhi Sinha 10 hours ago
Thank you sir for this tufani session maza aayega saachi muuchi Sir




If selling price of 20 articles is equal to cost price of 25 articles then calculate loss or
profit percentage ?

AT 20 TETAN T Ishal Hed 25 TEIHT ok el Hed o TR 8, Al gT AT ATH TTa9ra

T TUTET hRTNTA?

( (£20) > 20

3.331/3
4.40
5.NOT



If selling price of 350 articles is equal to cost price of 250 articles then calculate loss
or profit percentage ?

AT 350 TEAT T TR HET 250 TETAT o THT TET o SE g, AT G AT ATH Jiererd

Y TUTET hiTSTa?

( (£20) > =9

3.25
4.28 4/7
5.NOT



If on selling 81 articles we get profit which is equal to 9 articles’ selling price. Find
profit percentage ?

Ale 81 TEGAT <hl So T EH 19 FUCTAT & ST 9 TEqAT ok forshd Jod o sTa 1 o1d
TTI9Td T <RI ?

(=0 1.12%
(& 20) > 2.10

3.20
4.15
5.NOT



If on selling 400 articles we get profit which is equal to selling price of 20 articles.
Find profit percentage ?

Tt 400 TEGSTN T A< T FH ATH THeTar g S 20 Tl o forshay oar o e 31 o
9T TS hIR?

% 1.5
C:J/ 2 4

3.55/19
4.42/19
5.NOT



If on selling 700 articles we get loss which is equal to 140 articles’ selling price . Find
loss percentage ?

AT 700 TEGSTT T TT U FH FT ST & AT 140 T o TorshT 7o o TR 2 T
TTA9Td ST ShiTTa?

( L20) > =2

3.16 2/3
4.14 2/7
5.NOT



If on selling 350 articles we get profit which is equal to 50 articles’ cost price. Find
profit percentage ?

At 350 TEAAT T ST T EH ATH THETAT & AT 50 TEAAT o Sl Wed o ST 8| oTH
TTA9Td ST ShiTTa?

e > 1.16 2/3

3.14 2/7
4.28 4/7
5.NOT



Cost price of 25 articles is equal to selling price of 'x' articles. If profit percentage is
25% then calculate the value of x ?

25 TEGIT T A HEd 'x' TEGSHI oh [T5hT HEd oh SR Bl ATS AT TTa97d 25% &, AT x

o | hT TUTET T2

( L20) > =2

3.15
4.20
5.NOT



After selling 10 candles a man earn a profit of the SP of 3 pens. While selling 10 pens agiy
man losses SP of 4 candles. The numerical value of Profit % and Loss % is equal and

the CP of candle is half of the CP of the pen. Find the ratio of SP of candle to pen ?

10 HHIAT A< o I1S Uk ATSHT 3 HeTH o SP hT ATH HATAT 21 10 U S<id THIT Uk ATSHT hi 4

WISl T SP TRET BT 81 T % X FTH % T HEATHE W IR § 3R HHaw &1 CP
SHTH o CP T STTLT g1 HIHEHT o SP 3R heTd ol STTUTA [T hitT0?

w m> 1.5:4
2.3:2
3.2:3

4.7:11
5.NOT



A shopkeeper promises to sell its product on cost price but instead of selling 1 kg he
uses 960 gms then tell overall profit percentage ?

Teh SMER U IUTE hl 3l Hod UL e o1 J1ET ohldl & oitend 1 foreit srem o6

IS € 960 TTH THT IUART HTAT § AT SheT TATH TTA9Td T 82

(7 o > 1.4

i LD 14

e 241/
3.49/17
4.5

5.NOT



A shopkeeper promises to sell its product on cost price but uses 20% less weight
then tell overall profit percentage ?

Teh AR U IcUTS hl 3Tl Hod T o T STET Shldl § eieh 20% HH ST
IUANT AT &, AT T T TF9ra Farar 82

( (£20) > 20

3.331/3
4.40
5.NOT



A shopkeeper promises to sell its product on 10% profit but uses 10% less weight
then tell overall profit percentage ?

Teh ShMEN 37U 3TUTE Tl 10% TTH IR <1 ST ATET T § 1ok 10% HH ST Al
IUANT AT &, AT T T TF9ra Farar 82

e > 1.18 2/11
- IJ:D ',
8L = ) 2.22 2/9

3.20
4.25
5.NOT



A shopkeeper promises to sell its product on 10% loss but uses 30% less weight then
tell overall profit percentage ?

Teh ShMER U 37UTE Tl 10% BT R S ST ATET T § 1ok 30% HH ST T
IUANT AT &, AT T T TF9ra Farar 82

( (£20) > 20

3.284/7
4.211/7
5.NOT



A shopkeeper promises to sell its article for x% profit but he uses 20% less weight.
If he gets overall 37.5% profit. Calculate value of x?

Teh SRTSR U S Sl x% T o ToTg Srer w1 aTaT sheat ¢ wiferd 98 20% &9
A ST IUANT AT 51 AT I et 37.5% TITH UTH THAT §1 X o W ch TUTT 2

( (£20) > =19

3.30
4.25
5.NOT



A man make cheating of 20% while buying rice and make cheating of 10% when
selling rice. He promises to sell rice at 20% profit then find his overall profit ?

Teh 3TTSHT AT TWHIEd THT 20% <hT LETLET THiaT & R AT aerd TAT 10% <hl
LTS THAAT 2. T8 ATA i 20% ATH U I hT ITST KT 2, TRt STuaT awy e
AT AT 82

(@) i

3.60
4.75
5.NOT



A shopkeeper gets 20% profit but if he reduces its cost price by 20% and selling
price by 47 rupees then profit will be 25%. Calculate cost price ?

Teh ohTHE el 20% T FUeTdT 8 eifeh Ffe og U 3he Todl <l 20% 3R oeha qod
WY 47 TTX T HEAT & A AT 25% B WWE&W#{‘?

>4 N ;°/ 1. 220
[ My,

3.235
4.250
5.NOT



A shopkeeper gets 10% profit but if he reduces its cost price by 4% and had
increased selling price by 10 rupees then profit will be 18 3/4%.Calculate cost price?

Teh JohHaR <l 10% W19 FUeTdT 8 eifeh 9ie oIE 31U Sha Hodl hl 4% HH h{dl § 3R
Torsha Uoa W 10 S0 T Fleg AT & A1 ATH 18 3/4% TR AN Hod chl TUMT hi?

w m> 1.200
2.250
3.300

4.600
5.NOT




A shopkeeper gets 25% profit but if he reduces its cost price by 25% and had
decreased selling price by 25 rupees then profit will be 25%.Calculate cost price?

Teh SHMER &l 25% 14 THetar § wiferd afe o8 10 35 7ed i 25% %A HLaT g
IR TehT Ted W 25 TUA h1 HHT SHTal § a1 AT 25% FHTT SINTA Tl chl TUET hi?

( (420) > =79

3.80
4.100
5.NOT






